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(1+2+2)x8+1=41(7h) Yuch.




2. F 7159 5 48 FotAlL.

(9% 47152 Ho)
=3x3x3.14x2 = 56.52( cm?)
(LEF 97]59] 21)
—3x3x3.14x5 = 141.3(cm?)
T 47]159] o A

141.3 - 56.52 = 84.78(cm?)
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[> =D 1230.88cm?

B

(FAA 9] g O] yol)

=10x10x3.14 — 4 x 4 x 3.14 = 314 — 50.24= 263.76 (cm? )
(B1AA1] Aol Wol)

= (10x2x3.14x8) + (4x2x3.14 x 8)

= 502.4 + 200.96 = 703.36 (cm? )

(31412 Zylol)

= 263.76 X 2 + 703.36 = 1230.88 (cm? )




thS 97159 AAEA AAZEE O] 7HR 0] LolE FoHAl L

O

>
[> &= 37.68cm

A2 o) h)= (WH] U] 4F)
= 6x2x3.14 = 37.68(cm)
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ll:=|}- Cl’n3

>
[> ®EH. 989.1cm?

0.

LS

%

9l

(5x5x3.14x15) — (2x2x3.14 x 15)
= 1177.5 — 188.4 = 989.1( cm?)




